N = 0l & At & Ml A

20149 = =20l &t 2eHg)

2A NS
H: N2 (+SLRE/HERE - SFSIIE)
ool DEYH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
nSHF 13,261,884 15,100,802 A 1,838,918
2 12,000
& 250,000
< 251,743
Al 12,748,141
nsA(=3sLus/Usns - 28SIIEY 13,121,405 14,971,804 A 1,850,399
2 12,000
& 250,000
< 251,743
Al 12,607,662
Ny 881,562 779,296 102,266
2 12,000
Al 869,562
nsget 857,562 779,296 78,266
201 Let249H] 9,040 14,040 25,000
01 At 22l 9,040 14,040 A5,000
OMQHAI 2SS AL B A AP R S| B AL
70,0003 = 9H « 13l 630
ORSXHYUSAS HHLT
70,0003 = 8H = 23| 1,120
OEdSINH RS HAxE
70,0003 * 6" « 23| 840
Ousotl 222 M=% 2,250
—usadd S22 oM
1002 * 2Z * 5,00004 1,000
-~ DERY B H@2Y HE
50,000& = 53 = 504 1,250
O & EXNSIH2el NS, AaS M
300& * 2& * 2,0000H 1,200
Oodazgdas g8 3,000
—HALC SO T =0t A
3,000 = 1,000% 3,000
307 21201 A 848,522 765,256 83,266
02 QB AEXS 4,056 4,056 0
OFXNEAN U2EE AT 2DH(ZY2H
(XS 90% 338,000& » 10H = 12& 4,056
09 2HAHAEXS 844,466 761,200 83,266
OHA BAl 018 SFAIEHE 28 397,600
— &dAIBA 281 100,000& * 60CH » 128 72,000
— EHAl 224 50,000& = 501CH = 123 300,600
— dAB A 33| 300,000& = 50CH * 12 15,000
— Al & 50,000& = 20004 = 13l 10,000
Ounsite 22X 414,100
—WSIHEAE U 2 (EOIHXH2ESH)
100& = 2,000,000 200,000




2N

mE==

o o

M Us2el(+sdns/Hsns - 28SJI6)
ns

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
—WEIIE MEXSZ KN (HAUAIIEAE2S
HxJIELXLZE)  1,700,000,000& * 1.5% 25,500
—WEIE P2 (RBI+H2tES2M)
1,100 * 160,000 176,000
— WSEIIE e X2 X
1,500 * 70004 * 12& 12,600
OEAl IIEZHDI 2SS XA 32,766
—IJIEZ Il ELMAESZ
5,500& = 25404 ~ 12€& 16,764
—JIEAANI MNELESE
5,250& = 25408 ~ 12€ 16,002
ERAISSZHAZAMEIH AR (Z2) 24,000 0 24,000
= 12,000
Al 12,000
207 I & 24,000 0 24,000
= 12,000
Al 12,000
01 d32E<H| 24,000 0 24,000
QA SHANZAIESH 24,000,000 * 14! 24,000
= 12,000
Al 12,000
SSAY 22 ,220,105 8,975,147 244,958
o 251,743
Al ,968,362
29 H 29X ,099,268 6,099, 268 0
307 212t0| & ,099,268 6,099, 268 0
09 2L AHEXZ2 ,099,268 6,099,268 0
O2=AMYAN RIIEXZ2 ;099,268
—HA 380.09& = 1,500,0004 570,135
— BHA 197.97& = 3,900,000¢ 772,083
— 3= 345.54& * 13,767,000¢ , 757,050
|=2l A 2te ,555,671 2,251,077 304,594
101 Q124 H| 11,671 7,077 4,594
04 JI2ZtHIZ2 2 NEES 11,671 7,077 4,594
OBXLA NEZY XA 22
41,6803 = 209¥ * 7L x 23] 11,671
307 2Iz2t0| A ,544 ,000 2,244,000 300,000
09 2L AHEXZ2 ,544 ,000 2,244,000 300,000
OsHEHA Hl=dHd B&EEX
2,244 ,000,000& = 1J0H 2 244,000
OHA SHAQZ2H Al 2 22X
300,000,000& = 1JH A 300,000
OHRLEAKNHAAHAS(E) 7,200 7,200 0




2A NS
M w2 (>SLUNE/HELSE - SR SIIHY
& 2EAE 2el (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 1,200
Al 6,000
301 LBtEAZ 7,200 7,200 0
< 1,200
Al 6,000
06 212toI= 2l 04l 7,200 7,200 0
ORH2ES AR
3,600,000& * 2¥ * 13 7,200
< 1,200
Al 6,000
HACHdE=ABAZ(E) 134,754 137,180 AN2,426
< 38,937
Al 95,817
307 glz2tol & 134,754 137,180 N2,426
< 38,937
Al 95,817
09 2+HAHEXS 134,754 137,180 AN2,426
O daa43(012)
134,754,000& * 14 134,754
< 38,937
Al 95,817
ANUYLsHEHAZ2SAMEHMERNA(S) 423,212 371,522 51,690
< 211,606
Al 211,606
307 glz2+ol & 423,212 371,522 51,690
< 211,606
Al 211,606
09 2+HAHEEXS 423,212 371,522 51,690
OANULSHEHA2SAMITHE X2 (01)
423,212,000 = 14 423,212
< 211,606
Al 211,606
WEANE S3EH 2,985,126 5,185,479 A 2,200,353
& 250,000
Al 2,735,126
WnsA&s 2l 2,172,587 3,481,234 A 1,308,647
201 L2l 112,480 84,800 27,680
01 At 2t 2l 20,680 6,680 14,000
OuSHFAILdSHEX AMUEE(BE4L EES)
70,0003 * 243| 1,680
OQuSASI| HICHEHAA =22
35,000& = 4004 14,000
ONSHHANLE TlcH2a 2
5,000,000& = 13l 5,000
02 3323l 91,800 78,120 13,680
OXtss dIIea 5,000,000& = 12& 60,000




SN DEHEDY
M w2 (>SLUNE/HELSE - SR SIIHY
Chel: WEAL S3FH (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oogol2sx49 CCTV dIIe3
60,000& = 302 » 123 21,600
O0eolEsa4 CCTV 2IHY MtEZ
25,0003 = 3442 « 123 10,200
206 M= Hl 15,050 15,550 A 500
01 =8l 15,050 15,550 A 500
OAME LAIF=IAIE 5,550
— F=XFHW BEXE AX
150,000& = 701 = 33l 3,150
— =Xt AX MW 800,000& = 33l 2,400
OEE 25| 9,500
—otdB 25,0003 = 2004 5,000
— OFZ =TI 10,000& = 10074 1,000
—AEHED 2,000& = 5004 1,000
—s29Z 1,000& = 5004 500
— X&) HES 4,000& = 5004 2,000
401 AIEHIZL 20 1,945,057 3,280,884 A 1,335,827
01 A& Hl 1,931,920 3,259,950 A 1,328,030
Odtls &g u4 50,000,000& * 1JH A 50,000
OZ8s a4 30,000,000& * 1JH A 30,000
oxgd 3d&s a4 1,500,000& * 100H & 15,000
OXMSHOI Al =el 10,000,000& * 3MH = 30,000
OX&EE Aol wiH =2l
10,000,000 = 3JH 2 30,000
OGPS I A2 WH =2l
500,000& = 100H & 5,000
O2e=EE E2J| &4 6,000,0008 » 44 24,000
O=dt AHsdlss &X
2,000,000& * 200 A& 4,000
OLED &1& S Al 300,000& * 100K 30,000
Ounsdlsll, dE2s =l ¥ sX2a
500,000& * 6404 2 32,000
OLHEA MM FHI 586,600
— G ALK 285,600
- 3 30% 3,000& = 50,000m 150,000
- HeTE 70% 600& = 113,000m * 23] 135,600
— 3IIAIJHX 81,000
= 30% 3,000& = 15,000m 45,000
- HICIE 70% 600& = 30,000m * 23] 36,000
—gF A= 42,000
=2 30% 3,000& = 10,000m 30,000
- HeIE 70% 600& = 10,000m * 23| 12,000

—LHEAN ASES 48,000




SN DEHEDY
M w2 (>SLUNE/HELSE - SR SIIHY
Chel: WEAL S3FH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 30% 3,000& = 10,000m 30,000
- HeIE 70% 600& = 30,000m 18,000
— LS EHEA MAZDIN) 4,000& = 10,000m 40,000
-2 25, N, sE&&= 90,000
2 5% 3,000& = 10,000m 30,000
- HIOITE 95% 600& * 100,000m 60,000
OZZd nNsAdEXE &3
5,000,000& * 100H A& 50,000
OusetdEX & AX| 200,000& * 1504 30,000
Ounsetd=EXE WM, 0l&, HH
100,000& * 3004 30,000
Ooogol. Lol E539 |X 2= 65,000
— 0 DNEYXNZE T
45,0003 * 500m" * 2JH & 45,000
—otMEA B4 L A3
00,0003 = 10& 2t * 204 10,000
—EolEsRd HEA FH
2,500& * 4,000m 10,000
oA s2& 4X 100,000
—SANE HAas2HE 10,000,000& * 5JH A& 50,000
—SZEE8 HAaAsZdE 10,000,000& * 5JH A 50,000
OEASZE WA 5,000,000& * 200 A& 10,000
OUZELE AMEE HUl(HA, HAISLE)
500,000& » 2004 & 10,000
OsZd& LH¢HE WM 500,000& * 3000 2 15,000
OANHAHDYE BEFXE =44l 695,320
— EXI0HS I
400,000,000& * 14l * 99.37/100 397,480
— TA A
300,000,000& * 141 * 99.28/100 297,840
OREs2 22 dA(SY)=NE =4
10,000,000 = 3JH 2 30,000
O== & 28d? =Y =4
40,000,000 * 1JH A 40,000
O3 (A= AL FHI
2,000,000& * 1094 A& 20,000
03 A& =2 THHI 13,137 20,934 ANT,797
Otlss &4 50,000,000 = 14l = 0.9/100 450
OZEs a4 30,000,000 = 14 = 0.9/100 270
oZgdg 3&s o4
15,000,000& * 14l % 0.9/100 135
OASHOI Al =2l
30,000,000 * 14l % 0.9/100 270
Odlss A0 WA =2l
30,000,000 * 14l % 0.9/100 270




A REWEDY
FH: WsA(+sLUS/HEUE - 2E7SIIE
Sl DEAS AR CEEEED
= -Ill'i'
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

OGPS RIS AIED WH =2l

5,000,000& = 14l = 0.9/100 45
Ogg=2Er &2 &1

24,000,000& * 1Al * 0.9/100 216
OFdl Asdss &1

4,000,000& = 14l = 0.9/100 36
OLed dlss WA

30,000,000& * 1Al * 0.9/100 270
Ousdsll, 228 el & %II tel

32,000,000& * 14l % 0.9/100 288
OLSHEA MEM HH| 2,877,000 = 14 2,877
OgZd nstdEIE &1

50,000,000& = 1Al * 0.9/100 450
OusSetdEIE &X

30,000,000& = 1Al * 0.9/100 270
OusSetdEXE wHl, old, MH

30,000,000& = 1Al * 0.9/100 270
Oogol, e 5379 | E=

65,000,000& 1Al * 0.9/100 585

100,000,000& * 141 = 0.63/100 630

10,000,000& * 1Al * 0.9/100 90
OUEWE A& HUl (HA, SHAIS2E)
10,000,000& 1Al * 0.9/100 90
Os2& LHetE XA
15,000,000& = 1Al * 0.9/100 135
OANBHAHDE SE=XE =4l 4,680
— EX0HHl
400,000,000& = 14l + 0.63/100 2,520
— Zd A
300,000,000& = 14l + 0.72/100 2,160

ORs3d 22 JAN(3E)F=HE =4

30,000,000%! * 141  0.9/100 270
OBS L 2SS FUF =4

40,000,008 * 14} = 0.9/100 360
OZY(YANERZ A& FH|

20,000,000%! * 141  0.9/100 180
812Xt 2 0| & 100,000 100,000 0
RS 100,000 100,000 0
OUWBERZ 2 Al N (2XS FH)

2,000,000 * 508 100,000

N g 312,539 334,245 ~21,706
o124t 71,146 66,572 4,574
SE EES=T=p 71,146 66,572 4,574
OgY F.II oz 63,946
— QIS (ABE) 41,680 * 5 « 232 48,349




2N DEHHY
HM: NEAC(SLVE/NESVE - SFSIIE
S NSAE SEEU (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—Z5+9 41,6802 * 5% » 485 10,004
—CIXRIENEY 41,6808 * 5 * 112 2,293
— ARSI R (012AES)
7,500& * 5 x 8AIZ2t x 11& 3,300
O=2Y F 31 & o2 1=d(22d) 7,200
— gsts 200,000& * 5Y = 1& 1,000
-—== 150,000 * 59 * 2% 1,500
—ot= 150,000& = 59 = 2% 1,500
—&EF= 150,000 * 5% x 2% 1,500
— &3t 100,000& = 59 = 2& 1,000
— 29 20,000& » 5 = 2%t 200
— 283 30,000& » 5% =« 2= 300
- 2% 20,000& » 5 = 2=t 200
201 et A | 71,393 64,623 6,770
01 AFR22t2l Yl 22,743 22,653 90
O2Y = 83X x5 HAoN 10,390
R ==—=D\| 130& * 3,0000H 390
— BLALA EX M 100& * 15,0000H 1,500
— AFE S XA 100& * 15,0000H 1,500
— 220X A 100& * 15,0000H 1,500
—S=E(HE)2XA 100& = 50,0000H 5,000
—2=2SAAM 100& * 5,0000H 500
O=2% F 3 & o2 0=H(H3RE) 4,100
— g5t s 200,000& = 5YH x 1= 1,000
-=s= 150,000& = 59 = 1& 750
—ot= 150,000& = 5% = 1& 750
—EF=5 150,000 * 59 * 1= 750
— &3t 100,000& = 59 = 1& 500
- 29 20,000 = 53 = 1= 100
— 2= 30,000& » 5% « 1= 150
— 22X 20,000& » 5 = 1=t 100
O=28 F 3 4528 ZAHI(HEAEA)
6,000& = 2%‘ * 100 1,200
O=28 F A 28 E 2 (atzal)
200,000 = 53] = 104 1,000
OnséAMN A= 5,400
= 60,000& = 50 * 33 900
— o3 2 oI 5,000& = 100H 500
—FEXN2X 22 ®c
100& = 35 = 5,00004 1,500
— FEXSHERS O E X &
50,000& =* 50H 2,500




M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
O=2Y =31 2 AUt Y| (24 AE
FXHEFR) 653
—SI&EX #¢ 10,000& * 12& 120
—dHALAEE 10,000& * 3&Z *» 128 360
— MYII2E(504 ) 720 * 20& x 12& 173
02 352494l 48,650 41,970 6,680
O2Y FHI RLOULZAIAL(CCTV) HIIAS
= 60,000 = 84l x 12& 5,760
OE2Y FAHX ROICHEAIAE(CCTV) SAAIE
2 200,000& * 84 « 12& 19,200
O=8Y =&xzel CXE Itiet & 28I 7
Xl bl 1,250
— 2FI| (e 50,000& = 508 * 13 250
— S| (A 50,000 = 20CH = 13l 1,000
O=28Y =81 R et K2+ 8,400
— DHEA CCTV 100,000 = 404 = 12€ 4,800
— 0ls 4 CCTV 300,000& = 1CH = 12& 3,600
ORI xxEk2e Tz KA
250,000& = 12& 3,000
ORI xhEk Aol &Hl Xt
30,000& * 50CH 1,500
O=2Y = 3XEs ¥ SR g 24
LAAN 2ERZ 9,540
—REeEs = 2703 x 1,000 = 128 3,240
—SIRHE Bt&Ee3
1,500 = 20021 = 12&€ 3,600
—HEY AT LBLS 23
270& * 5,00021 * 23 2,700
307 QI2t01 ™ 80,000 80,000 0
05 A2t E = 80,000 80,000 0
OgGF=Al A e =
80,000,000& * 1JH A 80,000
401 Al HI YL 2 0HHI 90,000 90,000 0
01 Al &I 90,000 90,000 0
O=Y =& 292 A AE(CCTV) & X
45,000,000 = 201 A 90,000
20lHHYAF BT RS () 500,000 0 500,000
250,000
250,000
401 Al HI L 2 0HHI 500,000 0 500,000
250,000
250,000
01 Al&H| 496,850 0 496,850
OEoItMFATEoI TR =S
500,000,000& = 14l = 99.37/100 496,850




2A NS
FH: WsA(+sLUS/HEUE - 2E7SIIE
Sl DEAL AT EEREED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
& 250,000
Al 246,850
03 Al S THHI 3,150 0 3,150
ONROIAAG MBI DS
500,000,000& = 14] * 0.63/100 3,150
HHSE 2t 34,612 31,882 2,730
HERAL I H el 34,612 31,882 2,730
201 LB-2EH| 34,612 30,482 4,130
01 At 2t 2l 12,232 9,632 2,600
O2AZ RIAMA ol 10,320
~NENSSTY HA
60& » 3& = 15,0000H 2,700
— NAsXHEIISA HHS A
60& » 2& = 10,0000H 1,200
—NsSAHMAEE BB AA
60& » 2& = 10,0000H 1,200
—AsHsE2de MR AA
60& = 10& = 6,0000H 3,600
—HEJIHEE 2 N4
60& » 9& = 3,0000H 1,620
OXNeSEEFT JI=dHE MRESHI 1,912
— =SAMEX 2 13,000& » 2¢tA « 123 312
—IZ2E EU(E) 200,000& * 40H = 13 800
— D2l EU (&) 200,000& * 1CH * 33 600
—SsU=SEI| ==l 200,000& = 1CH 200
02 8323l 22,380 20,850 1,530
ORERS 19,380
—gR20NA 2 68 S)RER=S
1,900& » 600AH 128 13,680
—SISH &L=
1,900& » 25024 » 128 5,700
OSRESE2YNS AASXNEZIY SR AL
i 250,000& » 12& 3,000
HE2AIH (S F D) (IIEH/IIE) 140,479 128,998 11,481
ol 2 gl 27,501 24,938 2,563
ol 2AY| 27,501 24,938 2,563
101 @124l 27,501 24,938 2,563
03 RIHAZ 22+ 27,501 24,938 2,563
O=28Y = 3 ¢ gREX 27,501
—J2= 1,163,790& » 1H » 128 13,966
= 1,163,790& * 100% * 1¥ = 43 4,656
— G SO
1,163,790 * 75% = 1% = 23] 1,746




2N DEHHY
HM: H¥2HAH (DSHZH D) (IIEH/IIEH
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—Its4 1,440
< U X 40,0008 = 1Y = 12&€ 480
- JIEt 20,000 * 4% x 12& 960
—N2eRRAY
8,809& * 150% * 17Al2t » 14 * 12& 2,696
— R3S 70,4724 = 1Y = 18 1,269
— HHZAYH| 100,000& = 1Y * 128 1,200
— WEEXH| 44,000& + 149 « 12& 528
DIR= sl 112,978 104,060 8,918
Jl2&l 112,978 104,060 8,918
201 Bt A H| 22,878 21,460 1,418
01 AP 2t2l bl 22,878 21,460 1,418
OsAMEXN 7 13,000 * 218tA « 128 3,276
OSZ20Aldl 6,000& * 64 x 219 * 12& 9,072
Odbteg 100,000& = 12&€ 1,200
OLAFAR S AFLH 50,000 = 12& 600
OArE2 =44 7,470
—SA(a") =2l 500,000& * 1.50CH 750
— T2l D] =2l 100,000 * 4CH = 50/100 200
— 2A EY 200,000& = 53| = 1.504 1,500
— TEDI(SY) €
200,000 = 53] * 404 4,000
—PC =2l 100,000€ = 2104 = 20/100 420
— J|lEt==2lHl| 50,000& * 12& 600
OJIEt AFR 22/t 5,000& * 219 = 12& 1,260
202 04| 84,000 77,200 6,800
01 2LHO HI 84,000 77,200 6,800
OusdidY ARFX0iH] 84,000
— 2L o B 20,000 * 21 = 122 * 12& 60,480
— 2204 Hl 80,000& = 21¥ » 14 23,520
203 & R =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORBNMSgIR2F=&Y| 350,000& = 12& 4,200
204 & 2 4= A H| 1,200 1,200 0
01 SR LHAH| 1,200 1,200 0
OXBIAL2AHAY| (W SHE W)
100,000& * 1 = 128 1,200
405 XHoHFE S HI 700 0 700
01 JtatY = S F S b 700 0 700
O2AMMEI ¢ 700,000& * 1CH 700




